Algebra?2 - Mr. C. (includes Ch. 1-5 Inequalities) Name

Q1 HW2 *ALL WORK ON LOOSE LEAF* Date Period

Solve each equation. Check your solution.

1) 8(k +1)=4( - 10) 2) 4(3- 2a)=2(a- 3)- 9a

Solve each inequality and graph its solution.

3) 80£8(3- x) 4) 3(-8p-2)>-78
5) -14£8m- 7(8m +2) 6) 173 -4- 3(1+8n)
7) 293 - (8r +3) 8) -8x- 4(7x +5)>-20

Solve each inequality.

9) 6(7- b)<-8b+26 10) 4(- 2v+3)E3+v
11) -5x +35 £ - 8(7x + 2) 12) -7(7+6n)£-8n- 15
13) 1- 4 +7)£-5(n +6) 14) -1- 8(3+2a)3 2@ +6)- 1

15) -8+4(x +7)<-2+3(x +8) 16) 5(1+2v)£-2+7(1- 8v)
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